REapa

RN
42 1Int a,b;

a @ b & i SN RN

9 2 a+b 11

9 2 a-»b

9 2 a*b

9 2 a/b

9 2 a%b

9 2 4.5

RY BH AN PE

Hint : i o3 F?;{?Q‘EJJH‘ H B Ejr_‘%&ﬁ,@r

= dipl #include  AORIREHG -

o — g SN Ry L % th
1] F=c+a
5
4 3
2 =—mnR
3
d= b?-4ac
xlz—_b+\/a
3 2a
x2=_b_\/a
2a

- PR H@ﬁu—ru




(=) S %
[T RY -]
R ([ o B -
U™ X" 2ptys (e em) 71 CBEET ) (T Q)
Cfei] BMI fifi
{;ﬂﬁi]%agﬁﬁjfl Ehal:> height ?3§I:> weight BMI => bmi
bmi = weight /7 ( height/100 * height/100 )

e

["EE oY =]
Rt ([ e 7T R axerbxre=0 ORI

Ui X i~ 7= RO i, b,e 1,3, -10
[ji 1] ax?+bx+c=0 pupyfflss -

x1 = 2.00
x2 = -5.00
[% Y]

#include <iostream>
#include <cstdlib>
#include <cmath>
using namespace std;
int main()
{
int a, b, c;
float x1, x2 , d;
cout << Iﬁ?ﬁ‘ - I RHHEFPE HiEdra,b,c "t << endl;
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cout << "ax"2+bx+c=0 PURYELEL 1 " <<
system(*' pause');
return O;
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